

Research Article

Open Access

Ali El Mfadel*, Said Melliani, Abderrazak Kassidi, and M'hamed Elomari

Existence of mild solutions for nonlocal ψ -Caputo-type fractional evolution equations with nondense domain

<https://doi.org/10.1515/msds-2022-0157>

Received May 10, 2022; accepted October 07, 2022

Abstract: The main crux of this manuscript is to establish the existence and uniqueness of solutions for non-local fractional evolution equations involving ψ -Caputo fractional derivatives of an arbitrary order $\alpha \in (0, 1)$ with nondense domain. The mild solutions of our proposed model are constructed by employing generalized ψ -Laplace transform and some new density functions. The proofs are based on Krasnoselskii fixed point theorem and some basic techniques of ψ -fractional calculus. As application, a nontrivial example is given to illustrate our theoretical results.

Keywords: ψ -fractional integral, ψ -Caputo fractional derivative, ψ -mild solution

MSC: 34K37, 26A33, 34A08

1 Introduction

Fractional differential equations are a generalization of ordinary differential equations and integration of arbitrary noninteger orders. The theory of fractional calculus is an interesting and popular tool in modelling many phenomena in various fields of engineering, physics and economics. It often appears in viscoelasticity, electrochemistry, control, porous media, electromagnetic, etc. (see [8, 13, 14, 18, 20, 22]). Due to an increase in applications to queries regarding the generalization of this form of calculation, this theory has changed in both internal structure and scope. Among these generalizations, the researchers in [2] manage to define a fractional derivative which remains the most valid, they consider a Caputo type fractional derivative with respect to another function. Some properties between fractional derivatives and fractional integrals are proved in their paper. The reader can consult articles as well [3, 9–12, 21, 25] and the references therein for more details. As is known, the nonlocal Cauchy problem is motivated by physical phenomena and abstract partial differential equations with fractional derivatives in space and time are known as fractional diffusion equations. They're valuable for modeling anomalous diffusion, which occurs when a plume of particles expands in a way that isn't predicted by the classical diffusion equation. Ewsi in [3] pioneered nonlocal circumstances by demonstrating the existence and uniqueness of mild and classical solutions for nonlocal Cauchy problems. According to Byszewski and Lakshmikantham [13], the nonlocal condition can be more effective in describing some physical processes than the normal initial condition. In physics, the nonlocal condition has a better effect than the classical data condition $x(0) = x_0$, for example $\varphi(x)$ might be expressed by $\varphi(x) = \sum_{i=1}^m c_i x(t_i)$, where $c_i, i = 1, 2, \dots, n$ are given constants and $0 < t_1 < t_2 < \dots < t_n < a$. Zhou et al in [26], studied nonlocal Cauchy problem for fractional evolution equations in an arbitrary Banach space X . Some several criteria of

***Corresponding Author: Ali El Mfadel:** Sultan Moulay Slimane University, Beni Mellal, Morocco,, E-mail: a.elmfadel@usms.ma

Said Melliani: Sultan Moulay Slimane University, Beni Mellal, Morocco, E-mail: s.melliani@usms.ma

Abderrazak Kassidi: Sultan Moulay Slimane University, Beni Mellal, Morocco, E-mail: abderrazakassidi@gmail.com

M'hamed Elomari: Sultan Moulay Slimane University, Beni Mellal, Morocco, E-mail: m.elomari@usms.ma

the existence and uniqueness for mild solutions are established.

As a result of Hille-Yosida Theorem (see [24]) it is well known that a linear unbounded operator A is the infinitesimal generator of a C_0 -semigroup $\{T(t)\}_{t \geq 0}$ if and only if

1. A is closed and $\overline{D(A)} = X$,
2. there exist two constant $\omega, M \in \mathbb{R}$ such that $(\omega, +\infty) \subseteq \rho(A)$ and

$$\|(\lambda I - A)^{-k}\|_{\mathcal{L}(X)} \leq \frac{M}{(\lambda - \omega)^k}, \text{ for all } \lambda > \omega, k \geq 1.$$

Now, the main question is how to investigate the fractional evolution problem with the absence of a dense domain $D(A)$ for the operator A ?

Some researchers use the operator A_0 which is a restriction of A on $\overline{D(A)}$ defined as follows:

$$\begin{cases} D(A_0) = \{x \in D(A) : Ax \in \overline{D(A)}\}, \\ A_0 x = Ax. \end{cases}$$

G.M. Mophou and G.M. N'Guérékata in [23] discuss the existence and uniqueness of the integral solution for a nondensely fractional semilinear differential equation with nonlocal conditions in a Banach space X . They precisely considered the following evolution problem:

$$\begin{cases} D^q x(t) = Ax(t) + f(t, x(t)), & t \in [0, T], \\ x(0) + g(x) = x_0. \end{cases}$$

Where T is a positive real constant, $0 < q < 1$, the operator $A : D(A) \subset X \rightarrow X$ is not necessarily densely defined, $f : [0, T] \times X \rightarrow X$ and $g : \mathcal{C}([0, T]) \rightarrow \overline{D(A)}$ are continuous functions. They used Krasnoselskii theorem to prove the existence and uniqueness results. Gu et al in [17] studied the existence of integral solutions for two classes of fractional order evolution equations with nondensely defined linear operators. First, They look at the nonhomogeneous fractional order evolution equation and use Laplace transform and probability density function to construct the integral solution. They established the existence of this integral solution by using the noncompact measure approach.

Motivated by the above works especially by [17], we study the existence and uniqueness results for the following ψ -Caputo fractional evolution equation:

$$\begin{cases} {}^C D_{0^+}^{\alpha, \psi} x(t) = Ax(t) + f(t, x(t)), & t \in J = [0, T], \\ x(0) + \Phi(x) = x_0. \end{cases} \quad (1)$$

Where ${}^C D_{0^+}^{\alpha, \psi}$ is the ψ -Caputo fractional derivative of order $\alpha \in (0, 1)$, $T > 0$, $x_0 \in X$, the operator $A : D(A) \subset X \rightarrow X$ is not necessarily densely defined, $f : [0, T] \times X \rightarrow X$ and for $l > 0$ there exists a positive function $\mu_l \in L^\infty(J, \mathbb{R}_+)$ such that $\sup_{|x| \leq l} \|f(t, x)\| \leq \mu_l(t)$. $\Phi : \mathcal{C}([0, T], X) \rightarrow \overline{D(A)}$ is a K -Lipschitz function with $K > 0$.

Our paper is organized as follows. In Section 2, we give some basic definitions and properties of ψ -fractional integral and ψ -Caputo fractional derivatives which will be used in the rest of this paper. In Section 3, we construct the mild solutions for ψ -Caputo type fractional problem (1) by using generalized Laplace transform and a new density function. We establish our main results in Section 4. As application, an illustrative example is presented in Section 5 followed by conclusion in Section 6.

2 Preliminaries

In this section, we give some notations, definitions and results on ψ -fractional derivatives and ψ -fractional integrals, for more details we refer the reader to [2, 4, 16].

Notations

- We denote by X a Banach space.

- We denote by $\mathcal{C} := C(J, X)$ the Banach space of all continuous functions endowed with the topology of uniform convergence denoted by

$$\|x\|_{\infty} = \sup_{t \in J} \|x(t)\|.$$

- We denote by B_r the closed ball centered at 0 with radius $r > 0$.

Definition 1. [1] Let $q > 0$, $g \in L^1(J, \mathbb{R})$ and $\psi \in C^n(J, \mathbb{R})$ such that $\psi'(t) > 0$ for all $t \in J$. The ψ -Riemann-Liouville fractional integral at order q of the function g is given by

$$I_{0+}^{\alpha, \psi} g(t) = \frac{1}{\Gamma(\alpha)} \int_0^t \psi'(s)(\psi(t) - \psi(s))^{\alpha-1} g(s) ds.$$

Definition 2. [1] Let $\alpha > 0$, $g \in C^{n-1}(J, \mathbb{R})$ and $\psi \in C^n(J, \mathbb{R})$ such that $\psi'(t) > 0$ for all $t \in J$. The ψ -Caputo fractional derivative at order q of the function g is given by

$${}^c D_{0+}^{\alpha, \psi} g(t) = \frac{1}{\Gamma(n-\alpha)} \int_0^t \psi'(s)(\psi(t) - \psi(s))^{n-\alpha-1} g_{\psi}^{[n]}(s) ds.$$

Where

$$g_{\psi}^{[n]}(s) = \left(\frac{1}{\psi'(s)} \frac{d}{ds} \right)^n g(s) \quad \text{and} \quad n = [\alpha] + 1.$$

And $[q]$ denotes the integer part of the real number α .

Remark 1. In particular, if $\alpha \in]0, 1[$, then we have

$${}^c D_{0+}^{\alpha, \psi} g(t) = \frac{1}{\Gamma(\alpha)} \int_0^t (\psi(t) - \psi(s))^{\alpha-1} g'(s) ds.$$

And

$${}^c D_{0+}^{\alpha, \psi} g(t) = I_{0+}^{1-\alpha, \psi} \left(\frac{g'(t)}{\psi'(t)} \right).$$

Proposition 1. [1] Let $q > 0$, if $g \in C^{n-1}(J, \mathbb{R})$, then we have

- 1) ${}^c D_{0+}^{\alpha, \psi} I_{0+}^{\alpha, \psi} g(t) = g(t)$.
- 2) $I_{0+}^{\alpha, \psi} {}^c D_{0+}^{\alpha, \psi} g(t) = g(t) - \sum_{k=0}^{n-1} \frac{g_{\psi}^{[k]}(0)}{k!} (\psi(t) - \psi(0))^k$.
- 3) $I_{a+}^{\alpha, \psi}$ is linear and bounded from $C(J, \mathbb{R})$ to $C(J, \mathbb{R})$.

Proposition 2. [1] Let $t > 0$ and $\alpha, \beta > 0$, then we have

- 1) $I_{0+}^{\alpha, \psi} (\psi(t) - \psi(0))^{\beta-1} = \frac{\Gamma(\beta)}{\Gamma(\beta + \alpha)} (\psi(t) - \psi(0))^{\alpha+\beta-1}$.
- 2) ${}^c D_{0+}^{\alpha, \psi} (\psi(t) - \psi(0))^{\beta-1} = \frac{\Gamma(\beta)}{\Gamma(\beta - \alpha)} (\psi(t) - \psi(0))^{\alpha-\beta-1}$.
- 3) ${}^c D_{0+}^{\alpha, \psi} (\psi(t) - \psi(0))^n = 0$, for all $n \in \mathbb{N}$.

Definition 3. [19] Let $x : J \rightarrow X$ be a function. The generalized Laplace transform of x is given by

$$\mathcal{L}_{\psi}\{y(t)\}(s) := \widehat{x}(s) = \int_0^{\infty} \psi'(t) e^{-s(\psi(t) - \psi(0))} x(t) dt.$$

Definition 4. [19] Let f and g be two functions which are piecewise continuous on J and of exponential order. The generalized ψ -convolution of f and g is defined by

$$(f \star_{\psi} g)(t) = \int_0^t f(s)g(\psi^{-1}(\psi(t) + \psi(0) - \psi(s)))\psi'(s)ds.$$

Lemma 1. (See [19]). Let $q > 0$ and y be a piecewise continuous function on each interval $[0, t]$ and $\psi(t)$ -exponential order. Then we have

1. $\mathcal{L}_{\psi}\{I_{0+}^{q,\psi}y(t)\}(s) = \frac{\widehat{y}(s)}{s^q}.$
2. $\mathcal{L}_{\psi}\{{}^C D_{0+}^{q,\psi}y(t)\}(s) = s^q \left[\mathcal{L}_{\psi}\{y(t)\} - \sum_{k=0}^{n-1} s^{-k-1}f^{(k)}(0) \right],$ where $n = [q] + 1.$

Definition 5. (See [21]) Let $\rho \in [0, \infty)$. The one-sided stable probability density is defined by

$$\omega_{\alpha}(\rho) = \frac{1}{\pi} \sum_{n=1}^{\infty} (-1)^{n-1} (\psi(\rho) - \psi(0))^{-\alpha n - 1} \frac{\Gamma(\alpha n + 1)}{n!} \sin(n\pi\alpha).$$

Lemma 2. [21] The Laplace transform of $\omega_{\alpha}(t)$ is given by

$$\int_0^{\infty} e^{-\lambda(\psi(t)-\psi(0))} \omega_{\alpha}(t) \psi'(t) dt = e^{-\lambda^{\alpha}}.$$

Theorem 1. (Krasnoselskii Theorem [5]) Let C be a closed convex and nonempty subset of a Banach space X . Let F and L be two operators such that

1. $Fx + Ly \in C$ whenever $x, y \in C$,
2. F is a contraction mapping,
3. L is compact and continuous.

Then there exists $z \in C$ such that $z = Fz + Lz$.

3 Construction of mild solutions

In this section, we use the ψ -Laplace transform to construct the integral solution for the fractional evolution problem (1). For this purpose we need to prove the following lemma.

Lemma 3. The fractional evolution problem (1) is equivalent to the following integral equation

$$x(t) = x_0 + I_{0+}^{\alpha,\psi} (Ax(t) + f(t, x(t))), \quad \forall t \in J. \quad (2)$$

Proof. Let x be a solution of the problem (1), then we apply the ψ -fractional integral $I_{0+}^{\alpha,\psi}$ on both sides of (1) we get

$$I_{0+}^{\alpha,\psi} {}^C D_{0+}^{\alpha,\psi} x(t) = I_{0+}^{\alpha,\psi} [Ax(t) + f(t, x(t))],$$

and by using Proposition 1 we obtain

$$x(t) - x(0) = I_{0+}^{\alpha,\psi} [Ax(t) + f(t, x(t))],$$

since $x(0) + \Phi(x) = x_0$, it follows that

$$x(t) = x_0 - \Phi(x) + \frac{1}{\Gamma(\alpha)} \int_0^t \psi'(s)(\psi(t) - \psi(s))^{\alpha-1} [Ax(s) + f(s, x(s))] ds.$$

Hence the integral equation (2) holds.

Conversely, by direct computation, it is clear that if x satisfies the integral equation (2), then the equation (1) holds which completes the proof. $\square$

Definition 6. A function $x(t)$ is said to be an integral solution of (1) if

1. $x : J \rightarrow X$,
2. $I_{0+}^{\alpha, \psi} x(t) \in D(A)$, $\forall t \in J$,
3. $x(t) = x(0) + \Phi(x) + AI_{0+}^{\alpha, \psi} x(t) + I_{0+}^{\alpha, \psi} f((t, x(t)))$

Remark 2. We have the following remarks.

1. By using Proposition 1, we have $I^{1, \psi} x(t) = I^{1-\alpha, \psi} I_{0+}^{\alpha, \psi} x(t)$.
2. If $x(t)$ is an integral solution of (1), then $I_{0+}^{\alpha, \psi} x(t) \in D(A)$, $\forall t \in J$, which implies that $I^{1, \psi} x(t) = I^{1-\alpha, \psi} I_{0+}^{\alpha, \psi} x(t) \in D(A)$ for $t \in J$.
3. The limite $\lim_{h \rightarrow 0} \frac{1}{h} \int_t^{t+h} x(s) ds \in X_0$ for $t \in J$ shows that $x(t) \in D(A)$.

Let A_0 be the part of A in $X_0 = \overline{D(A)}$ defined by

$$\begin{cases} D(A_0) = \{x \in D(A) : Ax \in \overline{D(A)}\}, \\ A_0 x = Ax. \end{cases}$$

We assume the following hypotheses throughout the rest of our paper.

(H₁) The linear operator $A : D(A) \subset X \rightarrow X$ satisfies the Hille-Yosida condition, that is, there exist two constant $\omega, M \in \mathbb{R}$ such that $(\omega, +\infty) \subseteq \rho(A)$ and

$$\|(\lambda I - A)^{-k}\|_{\mathcal{L}(X)} \leq \frac{M}{(\lambda - \omega)^k}, \text{ for all } \lambda > \omega, k \geq 1.$$

(H₂) T_t is continuous in the uniform topology for $t > 0$.

(H₃) $MK < \frac{1}{2}$.

(H₄) $M \left(K + \frac{MT^\alpha}{\Gamma(\alpha+1)} \|\mu_1\|_{L^1_{\text{loc}}(J, \mathbb{R}_+)} \right) < 1$.

Since the operator A_0 satisfies the Hille-Yosida condition, we can find the mild solution on $D(A_0)$. For this purpose, let us consider the following auxiliary problem:

$$\begin{cases} {}^C D_{0+}^{\alpha, \psi} x(t) = A_0 x(t) + g(t), & t \in J, \\ x(0) + \Phi(x) = x_0. \end{cases} \quad (3)$$

Where g is a given continuous function.

Lemma 4. Let $\lambda > \omega$, then the resolvent R_λ of A satisfies

$$R_\lambda := (\lambda I - A)^{-1} = \int_0^\infty e^{-\lambda(\psi(t)-\psi(0))} T(\psi(t) - \psi(0)) \psi'(t) dt.$$

Proof. Let $x \in D(A)$. From (H₂) it follows that

$$\begin{aligned} \int_0^\infty e^{-\lambda(\psi(t)-\psi(0))} T(\psi(t) - \psi(0)) x \psi'(t) dt &= \int_0^\infty e^{-\lambda t} T(t) dt, \\ &= (\lambda I - A)^{-1} x. \end{aligned}$$

That's true of all $x \in D(A)$, which implies the results. $\square$

Proposition 3. If the fractional integral equation $x(t) = x_0 + \Phi(x) + I_{0+}^{\alpha, \psi} (A_0 x(t) + g(t))$ holds and g takes values in X_0 , then we have

$$x(t) = S_{\alpha, \psi}(t)(x_0 - \Phi(x)) + \int_0^{\psi(t)-\psi(0)} R_{\alpha, \psi}(\psi(t) - \psi(s)) g(s) \psi'(s) ds,$$

where

$$S_{\alpha, \psi}(t) = I^{1-\alpha, \psi} R_{\alpha, \psi}(t),$$

and

$$R_{\alpha, \psi}(t) = t^{\alpha-1} \int_0^\infty \alpha (\psi(\rho) - \psi(0)) \omega_\alpha(\rho) T_{t^\alpha(\psi(\rho)-\psi(0))} \psi'(\rho) d\rho.$$

Proof. Let $\lambda > 0$. From Lemmas 1 and 3 we have

$$\widehat{x} = \frac{1}{\lambda} (x_0 - \Phi(x)) + \frac{1}{\lambda^\alpha} (A_0 \widehat{x} + \widehat{g}),$$

we obtain

$$\widehat{x} = \lambda^{\alpha-1} (\lambda^\alpha I - A_0)^{-1} (x_0 - \Phi(x)) + (\lambda^\alpha I - A_0)^{-1} \widehat{g}.$$

$$\text{Let's pose } I_1 = \lambda^{\alpha-1} (\lambda^\alpha I - A_0)^{-1} (x_0 - \Phi(x)) \text{ and } I_2 = (\lambda^\alpha I - A_0)^{-1} \widehat{g} \quad \text{i.e.} \quad I_2 = \int_0^{+\infty} e^{-\lambda^\alpha s} T_s \widehat{g} ds.$$

From Lemma 4, we get

$$\begin{aligned} \lambda^{1-\alpha} I_1 &= (\lambda^\alpha I - A_0)^{-1} (x_0 - \Phi(x)) \\ &= \int_0^{+\infty} e^{-\lambda^\alpha (\psi(s)-\psi(0))} T_{\psi(s)-\psi(0)} (x_0 - \Phi(x)) \psi'(s) ds \\ &= \int_0^{+\infty} \alpha e^{-(\lambda(\psi(t)-\psi(0)))^\alpha} T_{(\psi(t)-\psi(0))^\alpha} (x_0 - \Phi(x)) (\psi(t) - \psi(0))^{\alpha-1} \psi'(t) dt \\ &= \alpha \int_0^\infty \int_0^{+\infty} e^{-\lambda(\psi(t)-\psi(0))(\psi(\rho)-\psi(0))} \chi_\alpha(\rho) T_{(\psi(t)-\psi(0))^\alpha} (x_0 - \Phi(x)) (\psi(t) - \psi(0))^{\alpha-1} \psi'(\rho) \psi'(t) dt d\rho \\ &= \alpha \int_0^\infty \int_0^{+\infty} e^{-\lambda(\psi(t)-\psi(0))} \chi_\alpha(\rho) T_{\left(\frac{\psi(t)-\psi(0)}{\psi(\rho)-\psi(0)}\right)^\alpha} (x_0 - \Phi(x)) \frac{(\psi(t) - \psi(0))^{\alpha-1}}{(\psi(\rho) - \psi(0))^\alpha} \psi'(\rho) \psi'(t) dt d\rho \\ &= \int_0^\infty e^{-\lambda(\psi(t)-\psi(0))} \left[\int_0^\infty \alpha \chi_\alpha(\rho) \frac{(\psi(t) - \psi(0))^{\alpha-1}}{(\psi(\rho) - \psi(0))^\alpha} T_{\left(\frac{\psi(t)-\psi(0)}{\psi(\rho)-\psi(0)}\right)^\alpha} (x_0 - \Phi(x)) \psi'(\rho) d\rho \right] \psi'(t) dt. \\ &= \mathcal{L}_\psi (R_{\alpha, \psi}) (\psi(t) - \psi(0)) (x_0 - \Phi(x)). \end{aligned}$$

Where

$$R_{\alpha, \psi}(t) = \int_0^\infty \alpha \chi_\alpha(\rho) \frac{(\psi(t) - \psi(0))^{\alpha-1}}{(\psi(\rho) - \psi(0))^\alpha} T_{\left(\frac{\psi(t)-\psi(0)}{\psi(\rho)-\psi(0)}\right)^\alpha} (x_0 - \Phi(x)) \psi'(\rho) d\rho,$$

we can write

$$R_{\alpha, \psi}(t) = t^{\alpha-1} \int_0^\infty \alpha \rho \omega_\alpha(\rho) T_{t^\alpha(\psi(\rho)-\psi(0))} \psi'(\rho) d\rho,$$

where

$$\omega_\alpha(\rho) = (\psi(\rho) - \psi(0))^{-\frac{1}{\alpha}} \chi_\alpha \left(\psi^{-1} \left(\left(\frac{1}{\psi(\rho) - \psi(0)} \right)^{\frac{1}{\alpha}} + \psi(0) \right) \right).$$

On other hand, we have

$$\mathcal{L}_\psi \left(\frac{(\psi(t) - \psi(0))^{-\alpha}}{\Gamma(1 - \alpha)} \right) (\lambda) = \lambda^{\alpha-1}.$$

Which implies that

$$\begin{aligned} I_1 &= \mathcal{L}_\psi \left(\frac{(\psi(\cdot) - \psi(0))^{-\alpha}}{\Gamma(1 - \alpha)} \star R_{\alpha, \psi}(\cdot) \right) (t) \\ &= \mathcal{L}_\psi (I^{1-\alpha, \psi} R_{\alpha, \psi}(t)). \end{aligned}$$

Let us calculate I_2 .

$$\begin{aligned} I_2 &= \int_0^\infty e^{-\lambda(\psi(t) - \psi(0))} T_{\psi(t) - \psi(0)} \widehat{g} \psi'(t) dt \\ &= \int_0^\infty \int_0^\infty e^{-\lambda(\psi(t) - \psi(0))} e^{-\lambda(\psi(s) - \psi(0))} T_{\psi(t) - \psi(0)} g(s) \psi'(s) \psi'(t) ds dt \\ &= \int_0^\infty \int_0^\infty \alpha (\psi(t) - \psi(0))^{\alpha-1} e^{-\lambda(\psi(t) - \psi(0))^\alpha} e^{-\lambda(\psi(s) - \psi(0))} T_{(\psi(t) - \psi(0))^\alpha} g(s) \psi'(s) \psi'(t) dt ds \\ &= \int_0^\infty \int_0^\infty \int_0^\infty \alpha \chi_\alpha(\rho) e^{-\lambda(\psi(t) - \psi(0))(\psi(\rho) - \psi(0))} e^{-\lambda(\psi(s) - \psi(0))} T_{(\psi(t) - \psi(0))^\alpha} (\rho) (\psi(t) - \psi(0))^{\alpha-1} \\ &\quad g(s) \psi'(\rho) \psi'(s) \psi'(t) dt ds d\rho \\ &= \int_0^\infty \int_0^\infty \int_0^\infty \alpha \chi_\alpha(\rho) e^{-\lambda(\psi(t) + \psi(s))} T_{\left(\frac{\psi(t) - \psi(0)}{\psi(\rho) - \psi(0)} \right)^\alpha} \frac{(\psi(t) - \psi(0))^{\alpha-1}}{(\psi(\rho) - \psi(0))^\alpha} g(s) \psi'(\rho) d\rho \psi'(s) ds \psi'(t) dt \\ &= \int_0^\infty e^{-\lambda(\psi(t) - \psi(0))} \left[\int_0^{\psi(t) - \psi(0)} \int_0^\infty \alpha \chi_\alpha(\rho) T_{\frac{(\psi(t) - \psi(0))^{\alpha-1}}{(\psi(\rho) - \psi(0))^\alpha}} (\psi(\rho) - \psi(0))^\alpha \frac{(\psi(t) - \psi(s))^{\alpha-1}}{(\psi(\rho) - \psi(0))^\alpha} \right. \\ &\quad \left. g(s) \psi'(\rho) \psi'(s) d\rho ds \right] \psi'(t) dt \\ &= \mathcal{L}_\psi (R_{\alpha, \psi} (\psi(t) - \psi(s))). \end{aligned}$$

Thus $x(t)$ can be written as follows

$$x(t) = S_{\alpha, \psi}(t)(x_0 - \Phi(x)) + \int_0^{\psi(t) - \psi(0)} R_{\alpha, \psi} (\psi(t) - \psi(s)) g(s) \psi'(s) ds,$$

where $S_{\alpha, \psi}(t) = I^{1-\alpha, \psi} R_{\alpha, \psi}(t)$. Which completes the proof. $\square$

Remark 3. From (H_1) we have $\|R_\lambda\| \leq \frac{\lambda M}{\lambda - \omega}$, then we get

$$\lim_{\lambda \rightarrow +\infty} \|R_\lambda\| \leq M.$$

Proposition 4. We assume that Φ is K-lipschitz and (H_2) holds, then

1. for a fixed $t > 0$, $\{R_{\alpha,\psi}(t)\}_{t>0}$ and $\{S_{\alpha,\psi}(t)\}_{t>0}$ are linear operators.
2. for $x \in X_0$, then $|R_{\alpha,\psi}(t)x| \leq \frac{t^{\alpha-1}M}{\Gamma(1+\alpha)}|x|$ and $|S_{\alpha,\psi}(t)x| \leq \frac{M}{\alpha}|x|$.
3. $\{R_{\alpha,\psi}(t)\}_{t>0}$ and $\{S_{\alpha,\psi}(t)\}_{t>0}$ are strongly continuous,
ie. For $x \in X_0$ and $0 < h \leq T$,

$$\lim_{t_1 \rightarrow t_2} |R_{\alpha,\psi}(t_1)x - R_{\alpha,\psi}(t_2)x| = 0 \text{ and } \lim_{t_1 \rightarrow t_2} |S_{\alpha,\psi}(t_1)x - S_{\alpha,\psi}(t_2)x| = 0.$$

Proof. Since we have $\int_0^\infty \alpha \rho \omega_\alpha(\rho) \psi'(\rho) d\rho = \frac{1}{\Gamma(1+\alpha)}$, then

$$|R_{\alpha,\psi}(t)x| \leq \frac{t^{\alpha-1}M}{\Gamma(1+\alpha)}|x|.$$

From the above inequality it follows that

$$\begin{aligned} |S_{\alpha,\psi}(\psi(t) - \psi(0))x| &= |I^{1-\alpha,\psi} R_{\alpha,\psi}(\psi(t) - \psi(0))x| \\ &\leq \frac{M I^{1-\alpha,\psi}(\psi(t) - \psi(0))^{\alpha-1}}{\Gamma(1+\alpha)}|x| \\ &\leq \frac{M \Gamma(\alpha)}{\Gamma(1+\alpha)}|x| \\ &\leq \frac{M}{\alpha}|x|, \end{aligned}$$

which implies that $|S_{\alpha,\psi}(t)x| \leq \frac{M}{\alpha}|x|$.

□

Lemma 5. The integral solution of the problem (3) is given by

$$x(t) = S_{\alpha,\psi}(t)(x_0 - \Phi(x)) + \lim_{\lambda \rightarrow \infty} \int_0^{\psi(t)-\psi(0)} R_{\alpha,\psi}(\psi(t) - \psi(s)) R_\lambda g(s) \psi'(s) ds. \quad (4)$$

Proof. We have that

$$x_\lambda(t) = R_\lambda x(t), \quad g_\lambda(t) = R_\lambda g(t), \quad x_\lambda = R_\lambda x(0).$$

By applying R_λ to (3), we have

$$x_\lambda(t) = x_\lambda + A_0 I_{0+}^{\alpha,\psi} x_\lambda(t) + I_{0+}^{\alpha,\psi} g_\lambda(t),$$

hence

$$x_\lambda(t) = S_{\alpha,\psi}(t)x_\lambda + \int_0^{\psi(t)-\psi(0)} K_{\alpha,\psi}(\psi(t) - \psi(s)) g_\lambda(s) ds,$$

since $x(t), x(0) \in X_0$, we have

$$x_\lambda(t) \rightarrow x(t), \quad x_\lambda \rightarrow x(0), \quad S_{\alpha,\psi}(t)x_\lambda \rightarrow S_{\alpha,\psi}(t)x(0), \text{ as } \lambda \rightarrow +\infty.$$

Thus (4) holds. This completes the proof.

□

Lemma 6. Let $x \in X$ and $t \geq 0$, then $\lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(0)} K_{\alpha,\psi}(\psi(s) - \psi(s)) R_\lambda x \psi'(s) ds$ exists and the mapping

$$\eta_{\alpha,\psi}(x) = \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(0)} K_{\alpha,\psi}(\psi(s) - \psi(s)) R_\lambda x \psi'(s) ds \text{ define a linear operator from } X_0 \text{ into } X_0.$$

Proof. . Let $\Psi_{\alpha,\psi}(t)$ be the following operator

$$\Psi_{\alpha,\psi}(t)x_0 = \int_0^{\psi(t)-\psi(0)} K_{\alpha,\psi}(\psi(s)-\psi(s)) R_\lambda x_0 \psi'(s) ds,$$

for $x_0 \in X_0$ and $t \geq 0$.

Then, the following operator

$$\zeta_{\alpha,\psi}(t) = (\lambda I - A)\Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}, \quad \lambda > \omega,$$

extends $\Psi_{\alpha,\psi}(t)$ from X_0 to X .

This definition is independent of λ due to resolvent identity. Since $\zeta_{\alpha,\psi}(t)$ maps X into X_0 , then we have

$$\begin{aligned} \zeta_{\alpha,\psi}(t)x &= \lim_{\lambda \rightarrow +\infty} R_\lambda \zeta_{\alpha,\psi}(t)x \\ &= \lim_{\lambda \rightarrow +\infty} \Psi_{\alpha,\psi}(t)R_\lambda x. \end{aligned}$$

This completes the proof. □

Lemma 7. Let $x \in X_0$ and $t \geq 0$, then we have ${}^c D_{0^+}^{\alpha,\psi} \Psi_{\alpha,\psi}(t)x = S_{\alpha,\psi}(t)x$ and $S_{\alpha,\psi}(t)x = A\Psi_{\alpha,\psi}(t)x + x$.

Proof. The proof of this Lemma derived directly from the definitions of $S_{\alpha,\psi}(t)$ and $\Psi_{\alpha,\psi}(t)$ for $t \geq 0$. □

Lemma 8. The following statements hold.

(i) Let $x \in X$ and $t \geq 0$, then

$$I_{0^+}^{\alpha,\psi} \zeta_{\alpha,\psi}(t)x \in D(A),$$

and

$$\zeta_{\alpha,\psi}(t)x = A(I_{0^+}^{\alpha,\psi} \zeta_{\alpha,\psi}(\psi(t) - \psi(0))x) + \frac{(\psi(t) - \psi(0))^\alpha}{\Gamma(1 + \alpha)} x.$$

(ii) If $x \in D(A)$, then

$$\zeta_{\alpha,\psi}(t)Ax + x = S_{\alpha,\psi}(t)x.$$

Proof. To show (i), let $x \in X$ and $t \geq 0$, then we have

$$\begin{aligned} \zeta(t) &= \lambda I_{0^+}^{\alpha,\psi} \Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x \\ &\quad + \frac{(\psi(t) - \psi(0))^\alpha}{\Gamma(1 + \alpha)} (\lambda I - A)^{-1}x - \Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x. \end{aligned}$$

Clearly $\zeta(0) = 0$. From Lemma 7 we have

$$\begin{aligned} {}^c D_{0^+}^{\alpha,\psi} \zeta(t) &= \lambda \Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x + (\lambda I - A)^{-1}x - {}^c D_{0^+}^{\alpha,\psi} \Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x \\ &= \lambda \Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x + (\lambda I - A)^{-1}x - S_{\alpha,\psi}(t)(\lambda I - A)^{-1}x \\ &= \lambda \Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x + (\lambda I - A)^{-1}x - A\Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x - (\lambda I - A)^{-1}x \\ &= \lambda \Psi_{\alpha,\psi}^0(t)(\lambda I - A)^{-1}x - A\Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x \\ &= (\lambda I - A)\Psi_{\alpha,\psi}(t)(\lambda I - A)^{-1}x \\ &= \zeta_{\alpha,\psi}(t)x. \end{aligned}$$

It follows that

$$\begin{aligned} \zeta(t) &= I_{0^+}^{\alpha,\psi} \zeta_{\alpha,\psi}(t)x + \zeta(0) \\ &= I_{0^+}^{\alpha,\psi} \zeta_{\alpha,\psi}(t)x, \end{aligned}$$

and

$$\begin{aligned}(\lambda I - A)\zeta(t) &= (\lambda I - A)I_{0^+}^{\alpha, \psi} \varsigma_{\alpha, \psi}(t)x \\ &= \lambda I_{0^+}^{\alpha, \psi} \varsigma_{\alpha, \psi}(t)x + \frac{(\psi(t) - \psi(0))^{\alpha, \psi}}{\Gamma(1 + \alpha)}x - \varsigma_{\alpha, \psi}(t)x.\end{aligned}$$

Thus

$$\varsigma_{\alpha, \psi}(t)x = A(I_{0^+}^{\alpha, \psi} \varsigma_{\alpha, \psi}(t)x) + \frac{(\psi(t) - \psi(0))^{\alpha}}{\Gamma(1 + q)}x.$$

Now, we prove (ii). Let $x \in D(A)$, it follows from Lemmas 6 and 7 that

$$\begin{aligned}\varsigma_{\alpha, \psi}(t)Ax &= \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t) - \psi(0)} K_{\alpha, \psi}(\psi(s) - \psi(0))R_{\lambda}Ax\psi'(s)ds \\ &= \lim_{\lambda \rightarrow +\infty} A_0 \int_0^{\psi(t) - \psi(0)} K_{\alpha, \psi}(s)R_{\lambda}x\psi'(s)ds \\ &= A_0\Psi_{\alpha, \psi}(t)x = S_{\alpha, \psi}(t)x - x.\end{aligned}$$

This completes the proof. $\square$

Theorem 2. The mild solution of the evolution problem (3) is given by

$$x(t) = S_{\alpha, \psi}(x_0 - \Phi(x)) + \lim_{\lambda \rightarrow \infty} \int_0^t K_{\alpha, \psi}(\psi(t) - \psi(s))R_{\lambda}g(s)ds.$$

Proof. The proof is given in several steps:

1) **Step 1:** Let g be always differentiable, then for $t \in J$, we have.

$$\begin{aligned}x_{\lambda}(t) &= \int_0^{\psi(t) - \psi(0)} K_{\alpha, \psi}(s)R_{\lambda}g(s)\psi'(s)ds \\ &= \int_0^{\psi(t) - \psi(0)} K_{\alpha, \psi}(s)R_{\lambda}(g(0) + \int_0^s g'(r)dr)\psi'(s)ds \\ &= \int_0^{\psi(t) - \psi(0)} K_{\alpha, \psi}(s)R_{\lambda}g(0)\psi'(s)ds + \int_0^{\psi(t) - \psi(0)} K_{\alpha, \psi}(s)R_{\lambda} \int_0^s g'(r)dr\psi'(s)ds \\ &= \Psi_{\alpha, \psi}(t)R_{\lambda}g(0) + \int_0^t \varsigma_{\alpha, \psi}^0(\psi(t) - \psi(r))R_{\lambda}g'(r)dr.\end{aligned}$$

By Lemma 7 for $t \in J$, we obtain

$$\begin{aligned}x(t) &= \lim_{\lambda \rightarrow +\infty} x_{\lambda}(t) \\ &= \varsigma_{\alpha, \psi}(t)g(0) + \int_0^t \varsigma_{\alpha, \psi}(\psi(t) - \psi(r))g(r)dr \\ &= A(I_{0^+}^{\alpha, \psi} \varsigma_{\alpha, \psi}(t)g(0)) + \frac{(\psi(t) - \psi(0))^{\alpha}}{\Gamma(1 + \alpha)}g(0) \\ &\quad + \int_0^t [A(I_{0^+}^{\alpha, \psi} \varsigma_{\alpha, \psi}(\psi(t) - \psi(r))) + \frac{(\psi(t) - \psi(r))^{\alpha}}{\Gamma(1 + \alpha)}]g'(r)dr\end{aligned}$$

$$\begin{aligned}
&= A[I_{0+}^{\alpha,\psi} \Phi_{\alpha,\psi}(t)f(0) + \int_0^t I_{0+}^{\alpha,\psi} \Phi_{\alpha,\psi}(\psi(t) - \psi(r))g'(r)dr] \\
&+ \frac{(\psi(t) - \psi(0))^\alpha}{\Gamma(1+\alpha)}g(0) + \frac{1}{\Gamma(1+\alpha)} \int_0^t (\psi(t) - \psi(r))^\alpha g'(r)dr \\
&= A[I_{0+}^{\alpha,\psi} \zeta_{\alpha,\psi}(t)g(0) + I_{0+}^{\alpha,\psi} (\int_0^t \Phi_{\alpha,\psi}(\psi(t) - \psi(r))g'(r)dr)] \\
&+ \frac{(\psi(t) - \psi(0))^\alpha}{\Gamma(1+\alpha)}g(0) + \frac{1}{\Gamma(1+\alpha)} \int_0^t (\psi(t) - \psi(r))^\alpha g'(r)dr \\
&= A(I_{0+}^{\alpha,\psi} x(t)) + I_{0+}^{\alpha,\psi} g(t).
\end{aligned}$$

2) **Step 2:** Now, we approach g through continuously differentiable functions g_n such that.

$$\sup_{t \in J} |g(t) - g_n(t)| \rightarrow 0, \text{ as } n \rightarrow \infty.$$

Letting

$$x_n(t) = \lim_{\lambda \rightarrow \infty} \int_0^t K_{\alpha,\psi}(\psi(s))R_\lambda g_n(s)ds,$$

we have

$$x_n(t) = A(I_{0+}^{\alpha,\psi} x_n(t)) + I_{0+}^{\alpha,\psi} g_n(t).$$

Hence

$$\begin{aligned}
|x_n(t) - x_m(t)| &= \left| \lim_{\lambda \rightarrow \infty} \int_0^t K_{\alpha,\psi}(s)R_\lambda [g_n(s) - g_m(s)]ds \right| \\
&\leq \frac{MM}{\Gamma(\alpha)} \int_0^t (\psi(t) - \psi(s))^{\alpha-1} |g_n(s) - g_m(s)|ds \\
&\leq \frac{MMT^\alpha}{\Gamma(\alpha)} \|g_n - g_m\|,
\end{aligned}$$

which implies that $\{x_n\}$ is a Cauchy sequence and its limit is denoted by $x(t)$, thus we obtain $x(t) = A(I_{0+}^{\alpha,\psi} x(t)) + I_{0+}^{\alpha,\psi} f(t)$, for $t \in J$. This completes the proof. $\square$

Corollary 1. By using Definition 6, Remark 2 and Theorem 2 we can give the mild solution of the fractional evolution problem (1) as follows:

$$x(t) = S_{\alpha,\psi}(x_0 - \Phi(x)) + \lim_{\lambda \rightarrow \infty} \int_0^t K_{\alpha,\psi}(\psi(t) - \psi(s))R_\lambda f(s, x(s))\psi'(s)ds.$$

4 Main results

In this section, we use Krasnoselskii [5] fixed point theorem to prove existence and uniqueness results of (1).

Theorem 3. Assume that the hypotheses $(H_3) - (H_4)$ are satisfied, then the fractional evolution problem (1) has a unique mild solution defined on J .

Proof. We give this proof in two several steps.

Step 1: Existence of solution.

Consider the following operators F and L .

$$\begin{cases} Fx(t) = S_{\alpha, \psi}(t)(x_0 - g(x)), \\ Lx(t) = \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(s)} (\psi(t) - \psi(s))^{\alpha-1} P_{\alpha, \psi}(\psi(t) - \psi(s)) R_{\lambda} f(s, x(s)) ds. \end{cases}$$

where $P_{\alpha, \psi}(t) = \int_0^{\psi(t)-\psi(0)} \alpha (\psi(\rho) - \psi(0)) \omega_{\alpha}(\rho) T_{t^{\alpha}(\psi(\rho)-\psi(0))} \psi'(\rho) d\rho$.

- Choose a ball of radius r . If $x, y \in B_r$, then

$$\begin{aligned} \|(Fx) + (Ly)\| &\leq \|S_{\alpha, \psi}(x_0 - \Phi(x))\| \\ &\quad + \lim_{\lambda \rightarrow +\infty} \left\| \int_0^{\psi(t)-\psi(s)} (\psi(t) - \psi(s))^{\alpha-1} P_{\alpha, \psi}(\psi(t) - \psi(s)) R_{\lambda} f(s, y(s)) \psi'(s) ds \right\| \\ &\leq \|S_{\alpha, \psi}(f)\| \|x_0 - \Phi(x)\| \\ &\quad + \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(s)} (\psi(t) - \psi(s))^{\alpha-1} \|P_{\alpha, \psi}(\psi(t) - \psi(s))\| \|R_{\lambda}\| \|f(s, y(s))\| \psi'(s) ds \\ &\leq \frac{M}{\alpha} \|x_0 - \Phi(x)\| \\ &\quad + \frac{(\psi(T) - \psi(0))^{\alpha}}{\Gamma(\alpha + 1)} M \|\mu\|_{L^{\infty}}. \end{aligned}$$

Since Φ is Lipschitzian with a positive constant K , then

$$\|Fx + Ly\| \leq M (\|x_0\| + \|\Phi(0)\| + Kr) + \frac{(\psi(T) - \psi(0))^{\alpha}}{\Gamma(\alpha + 1)} M \|\mu\|_{L^{\infty}}.$$

So just one can takes $r \geq 2M \left(\|x_0\| + \|\Phi(0)\| + \frac{(\psi(T) - \psi(0))^{\alpha}}{\Gamma(\alpha + 1)} M \|\mu\|_{L^{\infty}(J, \mathbb{R}_+)} \right)$ to find the result.

- F is a contraction mapping.

for any $t \in J$, $x, y \in B_r$ we have

$$\begin{aligned} \|Fx(t) - Fy(t)\| &\leq \|S_{\alpha, \psi}(t) (\Phi(x) - \Phi(y))\| \\ &\leq \|S_{\alpha, \psi}(t)\| \|\Phi(x) - \Phi(y)\| \\ &\leq MK \|x - y\|_{\infty}. \end{aligned}$$

$\|Fx - Fy\|_{\infty} \leq MK \|x - y\|_{\infty}$ Which implies that By the hypothesis (H_3) , $MK < 1$, F is a contraction mapping.

- L is continuous and compact.

Continuity of L .

Let (x_n) be a sequence in $B_r = \{x \in X, \|x\| \leq r\}$ such that $x_n \rightarrow x$ in B_r . Since f is a continuous mapping, we have

$$f(s, x_n(s)) \rightarrow f(s, x(s)), n \rightarrow \infty.$$

For all $t \in J$, we have

$$\|Lx_n - Lx\| \leq \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \|P_{\alpha, \psi}(t - s)\| \|R_{\lambda}\| \|f(s, x_n(s)) - f(s, x(s))\| \psi'(s) ds,$$

we get

$$\|Lx_n - Lx\| \leq \frac{1}{\Gamma(\alpha + 1)} M \int_0^{\psi(t) - \psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \|f(s, x_n(s)) - f(s, x(s))\| ds,$$

for all $t \in J$. Therefore, using on the one hand the fact that

$(\psi(t) - \psi(s))^{\alpha-1} \|f(s, x_n(s)) - f(s, x(s))\| \leq 2\mu(t)(\psi(t) - \psi(0))^{\alpha-1} \in L^1(J, \mathbb{R}_+)$, for $s \in J$, by using Lebesgue dominated convergence Theorem we obtain that

$$\lim_{n \rightarrow \infty} \int_0^{\psi(t) - \psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \|f(s, x_n(s)) - f(s, x(s))\| \psi'(s) ds = 0.$$

Consequently,

$$\lim_{n \rightarrow \infty} \|Lx_n - Lx\|_\infty = 0.$$

In other words L is continuous. It is easy to check that (Lx_n) is uniformly bounded.

• Compactness of L .

By using Ascoli-Arzelà Theorem [15], we first prove that $\{Lx : x \in B_r\}$ is relatively compact in X .

Obviously, $\{Lx(0) : x \in B_r\}$ is compact. Fix $t \in [0, T]$ each $h \in [0, T]$ and $x \in B_r$, define the operator L^h by

$$\begin{aligned} L^h x &= \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t) - \psi(h)} (\psi(t) - \psi(s))^{\alpha-1} P_{\alpha, \psi}(\psi(t) - \psi(s)) R_\lambda f(s, x(s)) \psi'(s) ds \\ &= \lim_{\lambda \rightarrow +\infty} \|P_{\alpha, \psi}(\psi(h) - \psi(0))\| \int_0^{\psi(t) - \psi(h)} (\psi(t) - \psi(s))^{\alpha-1} P_{\alpha, \psi}(\psi(t) - \psi(h) - \psi(s)) \\ &\quad \times R_\lambda f(s, x(s)) \psi'(s) ds. \end{aligned}$$

Since the operators $P_{\alpha, \psi}$ are compact in X for $t > 0$, then the sets $\{L^h x : x \in B_r\}$ are relatively compact in X for each $t \in J$. Moreover, now let's use the fact that A_0 is an infinitesimal generator of a C_0 semigroup, we have

$$\begin{aligned} \|Lx - L^h x\| &\leq \lim_{\lambda \rightarrow +\infty} \int_{\psi(t) - \psi(h)}^{\psi(t)} (\psi(t) - \psi(s))^{\alpha-1} \|P_{\alpha, \psi}(\psi(t) - \psi(s))\| \|R_\lambda\| \|f(s, x(s))\| \psi'(s) ds \\ &\leq \frac{T^\alpha}{\Gamma(\alpha + 1)} M \|\mu_r\|_{L^\infty(J, \mathbb{R}_+)} (\psi(h) - \psi(0)). \end{aligned}$$

Therefore, we deduce that $\{Lx : x \in B_r\}$ is relatively compact in X for all $t \in [0, T]$ and since it is compact at $t = 0$ we have the relative compactness in X for all $t \in J$.

Now, let us prove that $L(B_r)$ is equicontinuous. The functions Lx , $x \in B_r$ are equicontinuous at $t = 0$.

For $0 < t_2 < t_1 \leq T$, we have

$$\begin{aligned} \|Lx(t_1) - Lx(t_2)\| &\leq \lim_{\lambda \rightarrow +\infty} \left\| \int_0^{\psi(t_2)-\psi(0)} (\psi(t_1) - \psi(s))^{\alpha-1} (P_{\alpha,\psi}(\psi(t_1) - \psi(s)) - P_{\alpha,\psi}(\psi(t_2) - \psi(s))) \right. \\ &\quad \left. R_\lambda f(s, x(s)) \psi'(s) ds \right\| \\ &\quad + \lim_{\lambda \rightarrow +\infty} \left\| \int_0^{\psi(t_2)-\psi(0)} \left((\psi(t_1) - \psi(s))^{\alpha-1} - (\psi(t_2) - \psi(s))^{\alpha-1} \right) \right. \\ &\quad \left. S_{\alpha,\psi}(\psi(t_2) - \psi(s)) R_\lambda f(s, x(s)) \psi'(s) ds \right\| \\ &\quad + \lim_{\lambda \rightarrow +\infty} \left\| \int_{\psi(t_2)-\psi(0)}^{\psi(t_1)-\psi(0)} (\psi(t_1) - \psi(s))^{\alpha-1} S_{\alpha,\psi}(\psi(t_1) - \psi(s)) R_\lambda f(s, x(s)) \psi'(s) ds \right\| \\ &\leq I_1 + I_2 + I_3. \end{aligned}$$

Where

$$\begin{aligned} I_1 &= \lim_{\lambda \rightarrow +\infty} \left\| \int_0^{\psi(t_2)-\psi(0)} (\psi(t_1) - \psi(0))^{\alpha-1} (P_{\alpha,\psi}(\psi(t_1) - \psi(s)) - P_{\alpha,\psi}(\psi(t_2) - \psi(s))) R_\lambda f(s, x(s)) \psi'(s) ds \right\|, \\ I_2 &= \lim_{\lambda \rightarrow +\infty} \left\| \int_0^{\psi(t_2)-\psi(0)} ((\psi(t_1) - \psi(s))^{\alpha-1} - (\psi(t_2) - \psi(s))^{\alpha-1}) P_{\alpha,\psi}(\psi(t_2) - \psi(0)) R_\lambda f(s, x(s)) \psi'(s) ds \right\|, \end{aligned}$$

and

$$I_3 = \lim_{\lambda \rightarrow +\infty} \left\| \int_{\psi(t_2)-\psi(0)}^{\psi(t_1)-\psi(0)} (\psi(t_1) - \psi(s))^{\alpha-1} P_{\alpha,\psi}(\psi(t_1) - \psi(s)) R_\lambda f(s, x(s)) \psi'(s) ds \right\|.$$

I_1, I_2 and I_3 tend to 0 independently of $x \in B_r$ when $t_2 \rightarrow t_1$. Indeed, let $x \in B_r$. We have

$$\begin{aligned} I_1 &\leq \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t_2)-\psi(0)} \|(\psi(t_1) - \psi(0))^{\alpha-1} (P_{\alpha,\psi}(\psi(t_1) - \psi(s)) - P_{\alpha,\psi}(\psi(t_2) - \psi(0))) \\ &\quad R_\lambda f(s, x(s))\| \psi'(s) ds \\ &\leq \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t_2)-\psi(0)} \|(\psi(t_1) - \psi(0))^{\alpha-1} \\ &\quad (P_{\alpha,\psi}((\psi(t_1) - \psi(t_2)) + (\psi(t_2) - \psi(s))) - P_{\alpha,\psi}(\psi(t_2) - \psi(0))) \\ &\quad R_\lambda f(s, x(s))\| \psi'(s) ds \\ &\leq (P_{\alpha,\psi}(\psi(t_1) - \psi(t_2)) - I) \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t_2)-\psi(0)} \|(\psi(t_2) - \psi(0))^{\alpha-1} S_{\alpha,\psi}(\psi(t_2) - \psi(s)) \\ &\quad R_\lambda f(s, x(s))\| \psi'(s) ds \\ &\leq (S_{\alpha,\psi}(\psi(t_1) - \psi(t_2)) - I) \lim_{\lambda \rightarrow +\infty} \frac{M}{\Gamma(\alpha+1)} T^\alpha \|\mu_t\|_{L^\infty(J, \mathbb{R}_+)}. \end{aligned}$$

Therefore the continuity of the function $t \mapsto \|S_{\alpha,\psi}\|$ for $t \in (0, T)$ allows us to conclude that

$$\lim_{t_2 \rightarrow t_1} I_1 = 0.$$

On the other hand,

$$\begin{aligned}
I_2 &\leq \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t_2)-\psi(0)} \|((\psi(t_2) - \psi(s))^{\alpha-1} - (\psi(t_1) - \psi(s))^{\alpha-1}) S_{\alpha,\psi}(\psi(t_2) - \psi(s)) R_\lambda f(s, x(s))\| \psi'(s) ds \\
&\leq \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t_2)-\psi(0)} |(\psi(t_2) - \psi(s))^{\alpha-1} - (\psi(t_1) - \psi(s))^{\alpha-1}| \|S_{\alpha,\psi}(\psi(t_2) - \psi(s))\| \|R_\lambda\| \|f(s, x(s))\| \psi'(s) ds \\
&\leq M \int_0^{\psi(t_2)-\psi(0)} |(\psi(t_2) - \psi(s))^{\alpha-1} - (\psi(t_1) - \psi(s))^{\alpha-1}| \mu_r(s) \psi'(s) ds \\
&\leq M \|\mu_r\|_{L^\infty(J, \mathbb{R}_+)} \int_0^{\psi(t_2)-\psi(0)} |(\psi(t_2) - \psi(s))^{\alpha-1} - (\psi(t_1) - \psi(s))^{\alpha-1}| \psi'(s) ds \\
&\leq \frac{1}{\Gamma(\alpha+1)} \|\mu_r\|_{L^\infty(J, \mathbb{R}_+)} |\psi(t_1) - \psi(t_2)|^\alpha.
\end{aligned}$$

Hence $\lim_{t_2 \rightarrow t_1} I_2 = 0$.

$$\begin{aligned}
I_3 &\leq \lim_{\lambda \rightarrow +\infty} \int_{\psi(t_2)-\psi(0)}^{\psi(t_1)-\psi(0)} \|(\psi(t_1) - \psi(s))^{\alpha-1} S_{\alpha,\psi}(\psi(t_1) - \psi(s)) R_\lambda f(s, x(s))\| \psi'(s) ds \\
&\leq \lim_{\lambda \rightarrow +\infty} \int_{\psi(t_2)-\psi(0)}^{\psi(t_1)-\psi(0)} (\psi(t_1) - \psi(s))^{\alpha-1} \|S_{\alpha,\psi}(\psi(t_1) - \psi(s))\| \|R_\lambda\| \|f(s, x(s))\| \psi'(s) ds \\
&\leq \frac{M}{\Gamma(\alpha)} \int_{\psi(t_2)-\psi(0)}^{\psi(t_1)-\psi(0)} (\psi(t_1) - \psi(s))^{\alpha-1} \mu(s) \psi'(s) ds \\
&\leq \frac{1}{\Gamma(\alpha+1)} \|\mu_s\|_{L^\infty(J, \mathbb{R}_+)} |\psi(t_1) - \psi(t_2)|^\alpha.
\end{aligned}$$

Consequently, $\lim_{t_2 \rightarrow t_1} I_3 = 0$.

In short, we have proven that $L(B_r)$ is relatively compact, for $r \in (0, 1)$, $\{Lx : x \in B_r\}$ is a family of equicontinuous functions. Hence by using the Arzela-Ascoli Theorem [15], L is compact.

Finally, since F is a contraction, L is compact and $Fx + Ly \in B_r$ for $x, y \in B_r$, then by using Krasnoselskii Theorem [7] we conclude that (1) has at least one mild solution on J .

Step 2: Uniqueness of solution:

To prove the uniqueness of solution we use Banach fixed point Theorem. For this purpose, let us define the operator $\mathcal{T} : \mathcal{C} \rightarrow \mathcal{C}$ by

$$\mathcal{T}x = S_{\alpha,\psi}(x_0 - \Phi(x)) + \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(0)} (\psi(t) - \psi(s))^{\alpha-1} P_{\alpha,\psi}(\psi(t) - \psi(s)) R_\lambda f(s, x(s)) \psi'(s) ds.$$

Note that $\mathcal{T}$ is well defined on $\mathcal{C}$. Let $t \in J$ and $x, y \in \mathcal{C}$, We have

$$\begin{aligned} \|\mathcal{T}x - \mathcal{T}y\| &\leq \|S_{\alpha, \psi}(t)(\Phi(x) - \Phi(y))\| + \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \|S_{\alpha, \psi}(\psi(t) - \psi(s)) \\ &\quad R_\lambda(f(s, x(s)) - f(s, y(s)))\| \psi'(s) ds \\ &\leq \|S_{\alpha, \psi}(t)\| \|\Phi(x) - \Phi(y)\| \\ &\quad + \lim_{\lambda \rightarrow +\infty} \int_0^{\psi(t)-\psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \|S_{\alpha, \psi}(\psi(t) - \psi(s)) \\ &\quad \|R_\lambda\| \|f(s, x(s)) - f(s, y(s))\| \psi'(s) ds. \end{aligned}$$

It follows that

$$\begin{aligned} \|\mathcal{T}x(t) - \mathcal{T}y(t)\| &\leq ML\|x - y\|_\infty \\ &\quad + M \int_0^{\psi(t)-\psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \mu_1(s) \|x - y\| ds \\ &\leq Mb\|x - y\|_G + \frac{M}{\Gamma(q)} \|\mu_1\|_{L^1(J, \mathbb{R}_+)} \|x - y\|_\infty + \int_0^{\psi(t)-\psi(0)} (\psi(t) - \psi(s))^{\alpha-1} \psi'(s) s \\ &\leq \left(MK + \frac{MT^\alpha}{\Gamma(\alpha + 1)} \|\mu_1\|_{L^1_{\text{loc}}(J, \mathbb{R}_+)} \right) \|x - y\|_\infty. \end{aligned}$$

So we get

$$\|\mathcal{T}x - \mathcal{T}y\|_\infty \leq \left(MK + \frac{MMT^\alpha}{\Gamma(\alpha + 1)} \|\mu_1\|_{L^1_{\text{loc}}(J, \mathbb{R}_+)} \right) \|x - y\|_\infty.$$

Therefore, from (H_4) we get $MK + \frac{MMT^\alpha}{\Gamma(\alpha + 1)} \|\mu_1\|_{L^1_{\text{loc}}(J, \mathbb{R}_+)} < 1$ and in view of Banach contraction mapping principle, we can conclude that $\mathcal{T}$ has a unique fixed point in $\mathcal{C}$. $\square$

5 An illustrative example

In this section, we give a nontrivial example to illustrate our main result.

Consider the following fractional evolution problem:

$$\begin{cases} {}^C D_{0+}^{\frac{1}{2}, t} u(t, x) = \frac{\partial^2}{\partial x^2} u(t, x) + \frac{e^{-t}}{9 + e^t} \cos(u(t, x)), & (t, x) \in [0, 1] \times [0, 1], \\ u(t, 0) = u(t, 1) = 0, & t \in [0, 1], \\ u(0, x) = \sum_{i=1}^{10} \beta_i |u(t_i, x)|, & \beta_i > 0, \quad 0 < t_i < T, \quad i = 1, 2, \dots, 10 \text{ and } x \in [0, 1]. \end{cases} \quad (5)$$

We choose $X = \mathcal{C}([0, 1] \times [0, 1], \mathbb{R})$ and we consider the operator $A : D(A) \subset X \rightarrow X$ defined by

$$\begin{aligned} D(A) &= \left\{ u \in X : \frac{\partial^2}{\partial x^2} u \in X \text{ and } u(0, x) = u(0, 1) = 0 \right\}, \\ Au &= \frac{\partial^2}{\partial x^2} u. \end{aligned}$$

Then, we have

$$\overline{D(A)} = \left\{ u \in X : u(t, 0) = u(t, 1) = 0 \right\}.$$

$\overline{D(A)} \neq X$, $\rho(A) = (0, +\infty)$ and for $\lambda > 0$, $\|R(\lambda, A)\| \leq \frac{1}{\lambda}$.

This implies that A satisfies (H_1) with $M = 1$. Since it is well known that A generates a compact C_0 -semigroup $(S_{\alpha, \psi})_{t \geq 0}$ on $\overline{D(A)}$ such that $\|S_{\alpha, \psi}\| \leq 1$. Hence (H_2) is satisfied with $M = 1$.

In this example we set $\alpha = \frac{1}{2}$, $T = 1$, $\psi(t) = t$, $f(t, u) = \frac{e^{-t}}{9 + e^t} \cos(u(t, x))$

and $\Phi(x) = \sum_{i=1}^{10} \beta_i |x(t_i)|$ with $\sum_{i=1}^{10} \beta_i < 1$.

It is clear that $|f(t, x(t))| \leq \mu(t) = \frac{e^{-t}}{9 + e^t}$ and f is continuous, we have

$$|\Phi(x(t))| = \left| \sum_{i=1}^{10} \beta_i |x(t_i)| \right|,$$

it follows that

$$|\Phi(x)| \leq \sum_{i=1}^{10} \beta_i \|x\|,$$

On the other hand, we have

$$|\Phi(x(t)) - \Phi(y(t))| = \left| \sum_{i=1}^{10} \beta_i |x(t_i)| - \sum_{i=1}^{10} \beta_i |y(t_i)| \right|,$$

from which, we have

$$|\Phi(x) - \Phi(y)| \leq \sum_{i=1}^{10} \beta_i |x - y|,$$

thus $K = \sum_{i=1}^{10} \beta_i$.

We take $\mu(t) = \frac{e^{-t}}{9 + e^t}$ and $MK + \frac{MT^\alpha}{\Gamma(\alpha+1)} \|\mu_1\|_{L^1_{\text{loc}}(J, \mathbb{R}_+)} < 1$, whenever $0 < K < 1 - \frac{3}{4\sqrt{\pi}}$.

Finally, all the conditions of Theorem 3 are satisfied, thus it is easy to see that the fractional nonlinear problem (5) has one solution defined on $[0, 1]$.

6 Conclusion

In the present paper, we studied the existence and uniqueness of solutions for nonlocal fractional evolution problem with nondense domain involving Caputo type fractional derivative with respect to another function ψ . The forme of mild solutions is given by using semi-group and a density function. Our proofs of the existence results are based on Krasnoselskii fixed point theorem. As application, an example is given to illustrate the obtained results.

Acknowledgements: The authors would like to thank the anonymous referees for their constructive comments and valuable suggestions, which are helpful to improve the quality of this paper.

Funding statement: Authors state no funding involved.

Conflict of interest statement Authors state no conflict of interest.

Data Availability statement: Data sharing is not applicable to this article as no datasets were generated or analysed during the current study.

References

- [1] R. Almeida, A.B. Malinowska, M.T.T. Monteiro, Fractional differential equations with a Caputo derivative with respect to a kernel function and their applications. *Mathematical Methods in the Applied Sciences*, **41**(1), (2018), 336-352.
- [2] R. Almeida, A Caputo fractional derivative of a function with respect to another function. *Communications in Nonlinear Science and Numerical Simulation*. **44**(1), (2017), 460-481.
- [3] S. Baghli, M. Benchohra, Uniqueness results for partial functional differential equations in Fréchet spaces. *Fixed Point Theory*, **9**(2), (2008), 395-406.
- [4] A. Belarbi, M. Benchohra, A. Ouahab, Uniqueness results for fractional functional differential equations with infinite delay in Fréchet spaces. *Applicable Analysis*, **85**(12), (2006), 1459-1470.
- [5] T.A. Burton, A fixed point theorem of Krasnoselskii. *Appl. Math. Lett.*, **11**(1), (1998), 85-88.
- [6] L. Byszewski, V. Lakshmikantham, Theorem about the existence and uniqueness of a solution of a nonlocal abstract Cauchy problem in a Banach space. *Applicable analysis*, **40**(1), (1991), 11-19.
- [7] M.A. Krasnoselskii, Topological methods in the theory of nonlinear integral equations (Vol. 45), 1964. Pergamon Press, distributed in the Western Hemisphere by Macmillan, New York.
- [8] K. Diethelm, A.D. Freed, On the solution of nonlinear fractional-order differential equations used in the modeling of viscoplasticity. In *Scientific computing in chemical engineering II*. Springer, Berlin, Heidelberg, (1999), 217-224.
- [9] A. El Mfadel, S. Melliani, M. Elomari, Existence and uniqueness results for Caputo fractional boundary value problems involving the p-Laplacian operator. *U.P.B. Sci. Bull. Series A*, **84**(1) (2022), 37-46.
- [10] A. El Mfadel, S. Melliani, M. Elomari, New existence results for nonlinear functional hybrid differential equations involving the ψ -Caputo fractional derivative. *Results in Nonlinear Analysis*, **5** (1), (2022), 78-86.
- [11] A. El Mfadel, S. Melliani, M. Elomari, Existence results for nonlocal Cauchy problem of nonlinear ψ -Caputo type fractional differential equations via topological degree methods. *Advances in the Theory of Nonlinear Analysis and its Application*, **6**(2), (2022), 270-279.
- [12] A. El Mfadel, S. Melliani, M. Elomari, Existence of solutions for nonlinear ψ -Caputo-type fractional hybrid differential equations with periodic boundary conditions, *Asia Pac. J. Math.* (2022).
- [13] L. Gaul, L. Klein, P. Kemple, Damping description involving fractional operators. *Mechanical Systems and Signal Processing*, **5**(2), (1991), 81-88.
- [14] W.G. Glöckle, T.F. Nonnenmacher, A fractional calculus approach to self-similar protein dynamics. *Biophysical Journal*, **68** (1), (1995), 46-53.
- [15] J. W. Green, F. A. Valentine, On the arzela-ascoli theorem. *Mathematics Magazine*, **34**, (1961), 199-202.
- [16] T.L. Guo, V. Jiang, Impulsive fractional functional differential equations. *Comput. Math. Appl.* **64**, (2012), 3414-3424
- [17] H. Gu, Y. Zhou, B. Ahmad, A. Alsaedi, Integral solutions of fractional evolution equations with nondense domain. *Electronic Journal of Differential Equations*, **145**, (2017), 1-15.
- [18] R. Hilfer, *Applications of Fractional Calculus in Physics*, (2000), World Scientific, Singapore.
- [19] F. Jarad, T. Abdeljawad, Generalized fractional derivatives and Laplace transform. *Discrete Contin. Dyn. Syst. Ser.* **13**(3), (2019), 709-722.
- [20] F. Mainardi, *Fractals and Fractional Calculus in Continuum Mechanics*, Springer-Verlag, Wien, (1997), 291-348.
- [21] F. Mainardi, On the initial value problem for the fractional diffusion-wave equation. *Waves and Stability in Continuous Media*, World Scientific, Singapore. (1994), 246-251.
- [22] R. Metzler, W. Schick, H.G. Kilian, T.F. Nonnenmacher, Relaxation in filled polymers: a fractional calculus approach. *The Journal of Chemical Physics*, **103** (16), (1995), 7180-7186.
- [23] G. M. Mophou, On integral solutions of some nonlocal fractional differential equations with nondense domain. *Nonlinear Analysis: Theory, Methods and Applications*, **71**(10), (2009), 4668-4675.
- [24] Pazy, A.: *Semigroups of linear operators and applications to partial differential equations*, (Vol. 44), (2012), Springer Science and Business Media.
- [25] H.A. Wahash, S.K. Panchal, M.S. Abdo. Existence and stability of a nonlinear fractional differential equation involving a ψ -Caputo operator. *Advances in the Theory of Nonlinear Analysis and its Application*, **4**(4), (2020) 266-278.
- [26] Y. Zhou, F. Jiao, Nonlocal Cauchy problem for fractional evolution equations. *Nonlinear analysis: real world applications*, **11**(5), (2010), 4465-4475.